
Chapter 3  practice quiz



Solve for x, assume the lines are parallel

X + 66

2x - 8
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Name all the pairs of alternate exterior 
angles

 9             10
 11          12             

 13         14             
 15         16             
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Solve for the measure of angles 1 and 2

75                                          1             2

            38
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Solve for x and the measures of each angle

2x + 4

     E         2x - 9                                                                                                        x             D

C

https://www.google.com/url?q=http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0%3DpearId%3Dmagic-pear-shape-identifier&sa=D&ust=1603254969573000&usg=AOvVaw24AfTO-mkJ5MG3G8RCIbKL
https://www.google.com/url?q=http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZ29vZ2xlLXNsaWRlcy1hZGRvbi1yZXNwb25zZS1mb290ZXIiLCJsYXN0RWRpdGVkQnkiOiIxMTAxMTc0NjUyNjI4ODgyMzc0MjgiLCJwcmVzZW50YXRpb25JZCI6IjEwVzhlT3RVQjFYTEVYWVF1TXRCUmxCc3FoSnEzbWlCLWUzQW56N1Y5YllrIiwiY29udGVudElkIjoiY3VzdG9tLXJlc3BvbnNlLWZyZWVSZXNwb25zZS10ZXh0Iiwic2xpZGVJZCI6Imc5ZTc3NGNlODNmXzBfODEiLCJjb250ZW50SW5zdGFuY2VJZCI6IjEwVzhlT3RVQjFYTEVYWVF1TXRCUmxCc3FoSnEzbWlCLWUzQW56N1Y5YllrLzU1OWE2ZDA5LWI1MWYtNDU2OC1hOTZjLTI4ODRhOWYyZTZkYyJ9pearId%3Dmagic-pear-metadata-identifier&sa=D&ust=1603254969573000&usg=AOvVaw1Tqvl0rryWcnmpVABh-pHR


Determine whether the lines are parallel, 
perpendicular or just intersecting. 

2x + 5y = -1

10y = -4x - 20
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What is the slope between points A( 4 ,-6) and 
B( 7, 2 ) ?

https://www.google.com/url?q=http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLW51bWJlciIsImRyYWdnYWJsZXMiOlt7ImlkIjoiZHJhZ2dhYmxlMCIsInR5cGUiOiJpY29uIiwiaWNvbiI6eyJpZCI6ImRlZmF1bHQtY2lyY2xlIn0sImNvbG9yIjoiI0Q1MUQyOCJ9XSwiZHJhZ2dhYmxlU2l6ZSI6MTIuNTUsImVtYmVkZGFibGVVcmwiOiJodHRwczovLyIsImFuc3dlcnMiOltdfQ%3D%3DpearId%3Dmagic-pear-shape-identifier&sa=D&ust=1603254969966000&usg=AOvVaw3Z49yOAY5pP7v6QiHvGjLv
https://www.google.com/url?q=http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZ29vZ2xlLXNsaWRlcy1hZGRvbi1yZXNwb25zZS1mb290ZXIiLCJsYXN0RWRpdGVkQnkiOiIxMTAxMTc0NjUyNjI4ODgyMzc0MjgiLCJwcmVzZW50YXRpb25JZCI6IjEwVzhlT3RVQjFYTEVYWVF1TXRCUmxCc3FoSnEzbWlCLWUzQW56N1Y5YllrIiwiY29udGVudElkIjoiY3VzdG9tLXJlc3BvbnNlLWZyZWVSZXNwb25zZS1udW1iZXIiLCJzbGlkZUlkIjoiZzllNzc0Y2U4M2ZfMF85NyIsImNvbnRlbnRJbnN0YW5jZUlkIjoiMTBXOGVPdFVCMVhMRVhZUXVNdEJSbEJzcWhKcTNtaUItZTNBbno3VjliWWsvM2RkZTRlYjUtMTZlMy00OTQ2LWE2MzYtY2RkYTkwNjk5NGYwIn0%3DpearId%3Dmagic-pear-metadata-identifier&sa=D&ust=1603254969967000&usg=AOvVaw379QzjcY0jIBcBPvMPdKVY


Are the lines AB and CD parallel, 
perpendicular or neither?

A(-8, 3) B(-4,11)

C(-1,3) D(1,2)
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Write an equation of a line in slope intercept 
form that is parallel to the given line and 
going through point P.

Y = ½ x + 2, P(-2,4)
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Rewrite each equation in slope intercept 
form and then determine if the lines are 
parallel, perpendicular, or neither.

2x - 7y = -42

4y = -7x - 2
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